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HFERBBSEER
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= BUNEFER: KB4 0E, HAESH, X205 EFMELKENAMNMERP, HIMEIMERKR. 2

AIEXIRVEE S 4, BESERMRIE 2 4, TERHNE 09,
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13. 160; 14. 2x-4y+5=0; 15. [;.g]: 16. 2.
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17. (1041

[#Ebr] (1D l'i.d7~J.)"(Jr)=?.\Esin:lrcosx-e-six:r?"x—cos2 x =+/3sin 2x —cos 2x

. T
=2sm(2x——),
(2x =)

Fiel 2+ X< 2x— X < 4,
2 6 >

5
ﬁ?ﬂ]kﬁ-:—-f}gxght-i--—;—[-,

FTEL f () 1) WYL 0 X ) R [h-:— : th-—ég-] (keZ).

(2) AR f(A)= ?sm(?A—-—) 2. y;usm(u——) =],

11
mhAe(0,m), }ﬁlJ?A—-g-e(—-E- -—“—), i L MA—%-%-,
Fil 4 =—.
3
thﬂahly S.‘."..-IBD.*-SMCD:S&_{BC"

J;}fEA%AB-ADsinABAD-i-%AD-ACSiﬂéCAD =%-AB-AC-sin£BAC,

J}ruAD—-—J_



18. (124

[#Hr] (1) WA, & AC, ZBD 40, %E# PO,

fiAD=4B, CD=BC, AC=AC, A
Al AABC = NACD, Fiith ZBAC = ZDAC,

2L A0 = A0, Fith AAOB= NAOD ,

il BO=0D, MO NBD Wi,

A

{£%® APBD 'Y, "[f§BD 1 OP, 8
{2 ABCD', BD 1 0C, X OPNOC=0,

pred BD L ¥l POC

X PC c*Fifi POC,

fiftA BD L PC.

(2) i A1) 7/, 4C L BD,
1
?,

—

R CD=+7, OD=—BD =43,

il CO=vCD*—0D* =2, 40=30D=3,
T P—ABD NIE=#%if, i PERM ABDPEL —EME A0 L, BELNM,
U E = AR R 78 ..4M=§Ao=2, PM AP — M7 =3,
W, tLOA, OB F{EEANxh, vy I MEHER.

a8 4(3.0.0), C(=2.0.0), D(0,—3.0), P(1,0.,4/3),
PC=(=3,0,—/3), DC=(-2.43.0)

2 AC =(-5.0.0),

(8% AD = (-3,—3.0), AP =(-2.0.\3)>

¥F il PCD Mz En=(x,y.2), 1§

O.})_C'-= —g ) — 7 = S T o=
{n 0:{ 3x—/3 0=>{J§).+ 0

neDC =0 —2x+J§)r=O ?.x—\/3-y=0 ,
A4 x =3, @n=3.2.-3),

sicld = =23,
| 4

HOF B A BIFT PCD fs %JE |



19. (12 %3)

: l+a . l+a
[8%287) C1) @Hb,., -b =—2——=

n+l n
_n(l+a,.,)-(n+l)(1+a,) n+na,,,—(n+l)-(n+l)a, n+1-(n+1)
(n+1)n (n+1)n ~ (n+l)n
=0,
Hfubn*l =bn .
il {b, } =% HH.
> @ha =1, fiblh =b =22,
it ——2a =2,
7

pFitka =2n-1.

: j 8 ; T .
. — (00 yn-l - . ~2n-1
RN, sml}}(-n 1)]+- sm[mt 7)-;-_, ,

: PR . 3T . SN : T .
Bl S,, =[sm‘5+sm7+sm7+---+sm(2m—'—)]+(2‘ $20 49 e 2™ 1)

1-4 3

[ARH7] (1) I-=1—16x(33+41+44+51+54+56+ 58+ 64+74+80) = 56 .

(2) RAKRBAAGRBEES 3 2.

Frel X ) efgei{dg» 0. 1. 2. 3.
g7 et n et g

ANPX =0)=——=—, PX =])=—"23 o« A =,

Bl X )50

(3) AHx=56" SE=%X(ISZ+152+121+5:+2:+0:+2:+32+182+242)=169 :

il =56, c=13.

HNPGOSX <8)=P(u-20<E< u+206)=0.9545,

AT LA 2824 i V5 80 sl B A7 75 76 (X 7) [30, 82] A8 %4 %9 0.9545.

B3 100 4 524 1) (R R AR ARHA 1 E (E X 7] [30, 82] (YA #OH ¥ ~ B(100 1 0S4
Fibl ECY) =100 0.9545= 9545 .



21. (124

[RET)] (D) BYy=KR-2pk+2p (A X’ =2py. H@A X’ +2pkx+4p°(k-1)=0. (*)
HE ) HHHRA=4p°k -4(4p°k-4p°) =0

W@ E -4k +4=0.

Wk=2.

Q) XA(x,.y,) B(xp.Yp).CQc.Ye) . D(xp.Yp) E(Xp. Ve) . F(Xp. Vi),

MWL x =2py Eitdi A, B, CHIMERHESWN

(-
[
b

P}?
p.'v
Py‘-
MMEXSE, ARG D, E, F MSELHIHN
_ X X
2
X+ X~
2
Xp + X
2

FERCBA R P AR B IE0 L fl T BU f O S B bR  Hed, 78
40| _|EF| _|DB| _|x, -x,
IDE| |FC| |BF| |x-—x5|
W RS NE.

X, X—X

S W2

XpX—Xp ‘s

o o
o o

XXX %

x

o

Xp =

'IF =

22. (1259

(7] (D f@=e -2, fD=e-=.

f'X)=e"-x. fD=e-1,

Frel 2 y = f(x) £ A fD) WD )’-(e-%-)=(e—lxx-l) :
gl 22(e-Dx-2y+1=0

Q) @R f'(x)=e" —ax’ —x-2a =0 fEX[E)[0,+x) L{Hk L.

il a<C)
X =+

4 g)=s L. Wgl)=

(e* —l_z_(:r’ +2)—(e* -x)-2x
x*42 :

(II < 2)!

Hh) =" -Dx*+2D-(e"-x)-2x . WM h'(x)=xe"+2x.
2x=0%, Ax)=0_h(x) Aig:0%, h(x)=h0)=0,
Brelg' () =0, Frbl g(x) Mg,



OWERORES
%, 1
HIU.af-:-..?.
2
(3) f(x)=e‘—i;-x’--§--zax . fO)=1,

f'x)=e*—ax*-x-2a. f'O=1-2a ., f(x)=e -2ax-1 . f"(x)=e"-2a .

— T — . . X iy
"—Hﬂ"j HT. f(x)=e EI -5- X . f(x)=e —;— x-1,

- —

‘f:>g(x)=e‘—-§-—x-1 » W g'(x)=e"-x-1 ., g"(x)=e"-1 .

x<0 8, g'0)<0 , g'lx) (=0 LAFEHRR.

wx=20 &, g0=0 , g'x) 7[0,+x) I AigiHisE.
g)=g0)=0, g {7 (—o,+o0) AR, Ag0)=0 ,

Biel. Hx<0 &, g)<0 , (<0 , f(x) 7 (—=,0) | Hi6§8%.
“x>0 #f, g)>0 , f'G)>0 , f(x) 7 0,+x) | Aiiginis,

FTEL f (0 e = f(0) =1.

fitla== &4,

i'ia}%- &, %0<x<lla B 1(0)<0 .

S £(0,In2a) L. S)<f0)=0,
') 7z O:n2a) iR,

S )<f0)=1-2a<0 , f(x) 7 (0,In2a) | A&HNH.
pEr, fQO<fO=1, &,

La<O0ff, ¥x<0 B, f(x)=e"-2ax-1<0 .

f'(x) 7£(-=.0) EREARE. f')>f'0)=1-2a>0,
fx) £(=0,0) ERERE, fOO<fO=1 . &%

40<a<s B, Hhda<x<0 8. S7W>0 . f() 7E2a,0) ©AiB.

ffO<f0)=0 , f'x) 7Z(n2a.0) I HiHiHs.
f'x)>f'0)=1-2a>0 , f(x) {£(@n2a,0) L FigiH,
g, fG)<fO)=1 ., §%.
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